OR|
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Double Hung

Window
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wincore Double Hung Window described herein complies with the 2006 International
Residential Code (IRC), Sections R308.6 and the 2006 International Building Code (IBC),
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond roof covering.

2.  When used in areas requiring wind-borne debris protection (Seaward and Inland |
areas), this product complies with Section R301.2.1.2 of the IRC and Section 1609.1.2 of
the IBC and does not require impact protection. This product meets missile level "D" and
includes Wind Zone 4 as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes
Vertical & horizontal cross sections & frame anchoring
Components

Bill of materials, components and glazing details

W=

54" MAX. O.A. FRAME WIDTH

84" MAX. O.A. FRAME HEIGHT

37.38" MAX
D.L.O. HEIGHT

3G

i |
- » 4
e W
e

X

n{-ii-.{i._jv:é-a..u."'}. n‘u-il 3

P

£y
AL

AN

ﬁ/h& L
e
L /10N

~
b "»\?’:ﬂ..-'

47" MAX. D.L.O.

WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

48.0" X 72.0" 41.0" X 31.38' Gl +60.0 -65.0
54.0" X 84.0" 47.0"X 37.38" Gl +50.0 -50.0
54.0" X 76.0" 47.0" X 33.38" G2 +55.0 -60.0
54.0" X 76.0" 47.0"X 33.38" G3 +65.0 -70.0

(7
sap]
3 3]
2 [=
s| °g
) .
Lo =20
& c o=
= say | o Lk
O |5l <©
oL gé%
oo |
83 |4 28
S 1525
2l o= S
ol 2 184
=2 = t'—”
2 g o«
o o
X
Luj
N
K
L
3 B
El &
E o
=
e
[a)
=]
<
b ]
NE
QIS
w
~lo
=
oatE: 9/10/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFs
DRAWING NO.:
TX—4235

SHEET _1 oF 4

R:\A - Projecis\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\Texas 2012\TX-4234.dwg, TX-4235

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\Texas 2012\TX-4234.dwg, 2.2

\2/

NOTES: M r——_{» 14" MAX. O.C. (TYP.)
~ | (®)
. Anchors located above the meeting H e [T$P i >\/.
rail are in the interior frack and anchors ) L o
located below the meeting rail are 4 | f "
in the exterior track. EXT— [l o DRYWALL
— | ! ! SHEATHING  \ [fl4/1 Ny /
. Item #19 glued to item #1 frame head f 1
with PVC Vinyl Cement. — i1l
F )Tve. o & . g
2 i SCREW LOCATED
\2/ IN BOTTOM ==t =
HOLE OF THE TILT 1 \J
— LATCH HOOK — s G
i g I
q O 19) SEENOTE 2
o L) 16
>
|} < 11
FRAME—] % H S o
w
- = é £ INTERIOR
TYP. G3)G2|G1 -
2x framing to be designed < 2 PER
by the engineer or architect - EXTERIOR 2 PER KEEPER LOCK
of record based on wind loads s
and the cladding being used. S 53'5
FRAME ANCHORING el
1 SHEATHING
DRYWALL SEE DETAIL 1
\ c) U
o ﬂ INTERIOR
et 2\ VERTICAL CROSS SECTION
':m 2
"' ! ~
0% ’! .
n v [—)
=) S
0 T
= = »71|
— 7] EXTERIOR ' "
EXT./ SR [ ] ? 1] ? S
SHEATHING p NE 5 ] /
( 1"\ HORIZONTAL CROSS SECTION SEE DETAIL 2 @ »

DETAIL 1

»
i

ALY

<% OF 77,

— e
plta e

Jh \/

7

DRYWALL

3"\ VERTICAL CROSS SECTION
2

(24)

/i
I/

N D

DETAIL 2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

8800 SERIES
Vinyl Double Hung Window

PART OR ASSEMBLY:

PRODUCT:

VERTICAL & HORIZONTAL CROSS
SECTIONS & FRAME ANCHORING

JK
BY

8/27/13 |ADDED NEW FRAME SIZE

1

NOJ DATE

REVISIONS

oATE: 9,/10/12

scae:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4235

SHEET 2 ofF 4

© 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SANVLINSNOD aNIaTinNg "Mm™'d 2102 @)

ZSBLL—3 # NOLVMISIOZN 40 IUVOLILMID SNOISIASY
SHIINIONI TYNOISS3JONd 40 Ouv0o8 Svxal SININOAWOD AH 31vd [ON| ey w 4_
— - A 321S Invdd MIN_a3aaav|ei/zz/8] L |o|alXx|e]| B
LELB'659'CLE 'ON euoyd : i M
SBSEE "4 OOMIDA OFZ X 'O'd \Su@, "ATENISSY ¥O Luvd DENE L8
*ONI "SINVIINSNOD ONIGING < < 2 1 3_
mopuiy buny sygnoq jAuip ol |&lgle x
£Z1¥0L# "3'd SvXaL S3I¥3S 0088 gl M S|« : &
"I3'd PIWYdS "3 uopufiq :Ag peJtpdeld sjuewnsog :19NQ0Yd 209 M m w M
Hees 2
3 s o mmu
=08 A
275 eTivol 5 .“w._
2 GINHOS NOANAT & WLL6 — -
a.W,.. .................... ...«_.“_ﬁuww R
') : E ] * + Q
- P o =
e ..;m».vn.ﬂ{ T
g A B s
.._.. ...«fd.f..etr?}r . m
M~
3 38
" e
) b
O~
: ®
— () — =
g & g
(e} ko) =
= = 5% =
¢ & = &
e 5 S 9
(o) @ % E =
== 0 | & 2 * S Z(E
i T u“ ” — Q e N
=T (] <
= 5 wi .}
3 > ﬁ o : @
M m :W_.w 1
i~
/ !
o
_

(===

OPTIONAL COSMETIC FLANGES

= -}

AF59 (Masonry Flange 1)

]

Jectss
1
(=

.04

w610

2
TOP RAIL
Upper Sash

REINFORCEMENT

Alum,

818 1_

®

—=—£00

LOCK RAIL
Lower Sash

383"
=0
siLL

m HEAD ADAPTER

—=|=—0.07"
L]
KEEPER RAIL
Upper Sash

24"
j
—={|=—0.07"
1.41"
S

]
BOTTOM RAIL
Lower Sash

@ FRAME HEAD & JAMB
—1.9"

SASH STILE

]
:N.V _. [ =1
*

'€ "BMD'YEZY-XL\Z 10T SDX8\BUNH 8Ignoa\s.91 4d\00ZL - 1091 [oid\s1epjod jo8loid\s1oal0id - V\:y



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Double Hung\Texas 2012\TX-4234.dwg, 4.2

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 1XBUCK $G >=0.42 WOOD
B 2X BUCK $G >=0.42 WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F #8 X 1-3/4" PPH WOOD SCREW STEEL
G #8 X 2' PFH WOOD SCREW STEEL
J 1/4" X 2-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
K 1/4" X 3-1/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
1 FRAME JAMB* PVC
2 SILL* PVC
3 FRAME HEAD* PVC
5 SASH STILE* PVC
é GLAZING BEAD* PVC
7 KEEPER RAIL UPPER SASH* PVC
8 REINFORCEMENT (6005-T5) ALUM
9 LOCK RAIL LOWER SASH* PVC
11 TOP RAIL UPPER SASH* PVC
12 BOTTOM RAIL LOWER SASH* PVC
14 SILL DAM EXTENDER* PVC
16 WEATHERSTRIP ULTRA FAB .270 PILE - 270 -1875B §
17 WEATHERSTRIP SILLBULB [AMESBURY 32490) -
18 REINFORCEMENT (6005-T5) ALUM
19 HEAD ADAPTER* PVC
20 LOCK 8513 / 8845 LAWRENCE* PVC
21 KEEPER 2700/214 LAWRENCE* PVC
22 #8 X 1" PFH (VINYL LOCK SCREWS) STEEL
23 #6 X 1-1/2" PFH (VINYL LOCK SCREWS) STEEL
24 TOP SASH TILT LATCH - ASHLAND* PVC
25 BOTTOM SASH IMPACT TILT LATCH - ASHLAND -
26 #8 X 1" PFH SMS STEEL
27 #10 X 1-1/2" PFH SMS STEEL
28 PIVOT BAR - CALDWELL #
28A | PIVOT BAR - STAINLESS STEEL OPTION -
29 #8 X 1/2" SELF TAPPING PPH SMS STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS",

1/2" GLASS

BITE

NOVAGARD

— 1" THICK GLASS

1/8" ANNEALED

0.090" SAFLEX® PVB INTERLAYER

@ GLAZING DETAIL

1/2" GLASS

BITE

0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED

G2 GLAZING DETAIL

1/2" GLASS
BITE

AIR SPACE

S, S P
,% ] l8" ANNEALED S g A
\ AIR SPACE " )
1/8" ANNEALED = - 2
INTERCEPT SPACER }_ |';— / —_-—| i
NOVAGARD M400 i i 4
| 0] CS O ®=h
—— 1" THICK GLASS 4 v L—— " +| ? ?
1/8" ANNEALED § §

7

2 288"
(]
1/8" TEMPERED l 0.41" ,.’
INTERCEPT SPACER
: =] ]
o o 1l
SIKA 552 0.5" t J
——— 1"THICK GLASS I

. PIVOT BAR

1/8" ANNEALED

0.090" DUPONT SENTRYGLAS® INTERLAYER
k 1/8" ANNEALED

i

@GLAZING DETAIL

AIR SPACE

1/8" TEMPERED
INTERCEPT SPACER

Z

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

8800 SERIES
Vinyl Double Hung Window
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
COMPONENTS & GLAZING DETAILS

JK
BY

8/27/13 |ADDED NEW FRAME SIZE

NOJ] DATE

1

REVISIONS

DATE: 9/10/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4235

SHEET 4 oF 4

© 2012 R.W. BUILDING CONSULTANTS INC.



